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So as not to differentiate in nyow — PIThWa PYonn Row

Overview

The X3 concluded that even 1725w RS nevertheless 1"92 is required
(according to 1127) because of the 12p%P% 127 M1 Xaw 77713, The exception
is by a Xow X597 R0, such as a wannn nipo, and then vy is sufficient. The
X attempts to refute this by quoting the miwn of 7wl AR 2N 7PXY AWKT
provided that she say 1"92; even though it is a 2w &7 Xn?»! To which the
XT3 responds that even by a XmPow &7 Xn 7 the o°non still require saying
1"93, because M*owa p1onn XHw. The obvious question here is: If 170 R
mmowa requires saying 1"'92 even by a Xmow X?7 X0, how is it that the
mawn of 912° 1K) states that by a wannn npd, orp is sufficient?! Why do we
not say there mm*owa p1onn Xow as well?! mpon answers this question.

= 9191 MNYHYA VI
The meaning of the phrase mm>hwa pyonn X5w, that all nHw should be the

same, is referring (only) to those nimoHw where the 5w is capable of saying
1"02.! In those cases the onom insisted that all 2’m>w say 1"93, even if it is a K27 Xn»n
0w, such as the case where the wife herself is the van 7°2w. However in cases where the
YW is not capable of saying 193, as in the case of wnnN npo, then this rule of P1onn ROW
mowa does not apply. We permit that there be o1p instead of saying 1"93, since it is
impossible to say 1"92.

SUMMARY

According to 1727, all 2>m%w who are physically capable of saying 1"92, are
required to do so, even if their MW is a X*oW X?7 Xn?°1, in order PY?nn KW
mmhwa. However in the case of a X°ow X927 Xn2°n where one is physically
incapable of saying 1"92, then 01p 1s sufficient, and 192 is not required.

THINKING IT OVER
Why is it that even after we conclude mm°owa p1onn Xow; that all MY be

the same, nevertheless we continue to differentiate between 9127 and IR
215792

! See “Thinking it over’.
2 See nwn noma.
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